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Writing Project #2, long postponed, covers Chapter 3 and is due April Fool's Day.
Plot of Cosine: CoSINE 15
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given conditio
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tan(x) < 0

to find the values of all si

gtric functions. (If an answer is undefined, enter UNDEFINED.)
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Verify the identity. \[————— Ne, S J,, O_C‘,.;;v-"/ 9;1«'
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6 cos(sin™! x) = /36 — 36x2
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Rather than "prove" this identity, I'm more likely to ask and in Calculus II you're more
likely to have to provide "an algebraic expression that is equivalentto ¢ cos(s - CX\)
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Solve the equation. (Enter your answers as a comma-separated list, Use n as an integer constant, Enter your response in
radians.)
s _ Z hawr wno p—u:L&-.. tuata
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s= (k) as ' No vania .

Coalts i ’beddfu-\; w:ﬂ ma [(—' Sove
fass aboud ﬁvn/é-‘—; o ;-...Agst;.},),,\,,,_,,\_,

Heu's b\ot: -411\;7" n Gos )C'V‘\a_QD A

wodd Jo 7
L.“l' u = sC.CX\.
T W + Bu 4+ =O

Theo
Mo Can zu% Meao! Yt 70-4(‘1:7,(‘,-

= e ige(Di=e LW T wend yeu do SEE e
=z _(ru+ \3(\4 + l\ =0 m)j\:ntﬂ 7'/1. S 7\4‘//!0-!"( f/h\g':(x).
=Nu+l=0 bR L+ =0O
Nu=< - u= -\
u_---‘:,_/ %:CX)= ——‘ gl.h“ wa) |7ou
s ‘ 3 ’h/\‘? c‘v?,u-.’
0= cnake tarangll,
+t ov--;az Y
-3 | 3
-t e’ = 2L
-( 2
v 2

¢ ' °_ Tr'_;
gL C—:,,\—-—%o = - g st
Make ¥ brhotsn o d At welne L QUL ‘ﬂ% QW

IR N S | N L 1
\ ¢ (’h G




220308-notes.notebook March 09, 2022

0
Thy vhun vw 5 180
8P ) 30°=210°
T Lo L 7 ,A
‘2'? ,,é_. .
%= ﬁ- iy ?_E_-‘ = G ves s
L 7 b / 71’\

n <L) + 19suk)36 =0
12 s ( %ﬂ + (%s't-(‘%-) +b
n (-5 s B(-) 0 = 1Z -G o= B4 ZO T

-

—-\F’ ”/L’ﬂ-’- “,a\"g/‘l"o ~
<\
2 - -
:f»:"(g\-!— ® s (T - O(

(&

-t

= 1 -'\b g (-0 6 !

( 318 §o, M0 .¢xfna-—uou5 Szre-:"‘h.s/
= 1-%+6=0 g
So Jo £adl 2@ so‘o'/‘\ﬁjvx raed +o 27 n —hm:j 4

c.,PL-u ALL gue‘/hf -'hw\"‘/\’ w{ﬂu\?—cﬂ t.u/"l‘t\. o oo cg ve

wd- )
& WebAss 4 wotr
2T

um 5T
7_1'4_1—:1»\/ —‘;J-Q-rmj — +2T n,

b —

T paills Rl




220308-notes.notebook March 09, 2022

Use the Quadratic Fermula to find all selutions of the equation in the interval [0, 27). (Enter your answers as a comma-
separated list. Round each answer to four decimal places.)

12 sin¥(x) - 17 sinf{x) + 6 = 0

0.7297, 0.5481, 2.2935, 2.4119
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